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T ′(t) = k(T0 − T (t))ly dxehxtnhd gvxd zray dgpdae ,x
gd zxehxtnh `id T0 -e ,reaw `ed k xy`k.gvxd onf z` `vn ,zelrn 37 dzid dieebdd`eeynl (`) .2
y′′ + xp(x)y′ − p(x)y = 0.zix`ipil ielz izla ipy oexzt `vn .y(x) = x ihxt oexzt yidirad ly oexztl dgqep `vn ,Y (x) `id m
ewd sirql daeyzd m` (a)

y′′ + xp(x)y′ − p(x)y = q(x) , y(0) = 0 , y′(0) = 1ze`eeynd ly illkd oexztd z` `vn .3
y′′ − 2y′ + 10y = 10 cos 3x (`)
x2y′′ − 2xy′ + 2y = x2 log x (a)d`eeynd z` xezt .4

(2x2
− 1)y′′ − 5xy′ + 3y = 0oexztl ,wiie
n ote`a `evnl yi 
g` oexzt .zewfg ixeh ly dxeva zepexzt ytgl yi.miil`iaixh `l mixai` 4 zegtl `evnl yi ipydd`eeynd z` xezt .5
2xy′′ − y′ + y = 0.min
wnd lk z` yxetn ote`a `evnle ,millken zewfg ixehk zepexzt ytgl yi



zkxrnly gked .6
x
′′(t) = Axoexzt yi , n× n l
ebn dreaw dvixhn `id A -e x(t) ∈ R

n xy`k
x(t) = ve

√
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